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The enthalpy change is the heat absorbed or given off during a chemical reaction that
occurs at constant

a. Temperature b.Volume c. Pressure d. Reaction Rate
Consider an electrochemical cell where the following reaction takes place.

2 Au”(aq) + 3 7Zn(s) —»2 Aus) + 3 Znt (aq)
Which of the following is th collect cell notation for this cell?.

a. Au ‘ avt] Zn”\ Zn b. Zn l Zn*t | Ad’t) Au
. The standard state of an element or compounds is determined at a pressure of .

and a temperature

a. 760 mmHg O°C b. 1 atm 298 °C

Which of the following is a state function that is a change in this quantity depends only
on the initial and final states of the system being discussed?

a. Enthalpy b. Work c. Power

According to the molecular orbital theory, which of the following correctly list is these
helium species in terms of increase bond order?

a. Hey < Hey" < Hep™ b. He, > He;*>He,™

. We place 0.0001 mole ot NiCl., CdCl,, ZnCl; and CuCl.ina 1l L ofa 0.1 M NH;

Solution. K; of the metal complex ions show in decreasing order as the following
(Cu(NHs),} **> (Zn(NH;),) > (Ni(NH;),] *> (Cd(NH3),]

Which of the tfollowing ion would exist at the least concentration in the solution?

a. Nitt b znt c Cd* d.cutt
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7. How is sodium currently produced in industry?
a.By reduction of Na' in NaCl with Al
b.Electrolysis of pure NaCl(aq)
c.Elctrolysis of molten NaCl

8. What hvbrid orbital is used by the underlined carbonin the allene molecule.?

CH,=C=CH. a.. SP? b.SP c. SP?

9. 10°C the water ionization constant K, is 2.9 x10™", what is (H;0") in neutral
water at  10°C?

2.44x10°M b.1.0x 107"M c.539x10*M

P oakpy - A RAEHE 3 a5, #3907
1.Given the two following half reactions

Nitt(aq) t2e —— Ni(s) E%= 025V
He'' (aq) +2¢ —>» Ha(l) E°=086 V

What is the value of E° for the following reaction

Ni(s) + Hg” (aq) ————PNi”(aq) - Hg(l)

[ R

What is the value of the standard enthalpy of formation for any element under standard
condition?

(V]

. Consider the simple molecule NO, nitrogen oxide
(a).How many sigma(c )bonds are there?
(b). How many pi(I1) bond are there?
(c). What is the N-O bond order?
(d). If the molecule is oxidized to the nitrosonium 1on . NO' _and thig
N-O bond length is ( longer or shorter) and it is
(stronger or weaker) than NO.




A

= ¢}
<L

RILRFAN W2 R E A4 A F A

(L L Yol 1 #8 % @ 4 £

AR A HIT TV,

arrrer
xR (A (2BE3Z B
ARME 2 H

4.Complete the following table.

0.001 M HCI 10 M NaOH
pH
2A B
pOH 2C D

5.Identity the monomer.s from which the following polvmers are made.
a. ~NH(CH:,NHCO(CH-},CO NH(CH-,NHCO(CH-},CO NH(CH\\NHCO(CH},CO~

b. *‘CI‘I:CH: Cl”lzCI‘Ig CH}CHZ CH:C['I:"'
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1. Choose the strongest acid from each group. (4 %)

a.HCl10. HIO, HBrO b. HIO, HIO;, HIO,

I

. Draw the Lewis structure  and resonance structure for N,O (6 %)

L2

. .Sketch the geomeiry of the following compounds. (6 %)

p

Zn(H,0)%Cl, [ This compound is found to have no geometrical isomers. }

=

rans-Ni(NH;)»(CN






